Algorithm 1: Richardson’s method

xo given
To = b— A Lo
k=0
repeat
DPr = Tk
qp = T
Tp41 = T + Qg Pk
Tk+1 = T — Ok Apk = b — ACL‘k_H
k=k+1

until stopping criterion fulfilled, e.g. ||rk||ez < € ||70]|e2

Algorithm 2: Method of steepest descent

xo given
To = b— A o
kE=0
repeat
DPr = Tk
_ (rkapk)
Ck = Tow, Apr)
Tp41 = Tp + O Pk
Tkr1 = T — O Apk = b — ACL‘k_H
kEk=k+1

until stopping criterion fulfilled, e.g. ||rk||ez < € ||70]|e2

Algorithm 3: Conjugate gradient method

xo given
To = b— A o
k=0
repeat
if Kk = 0 then
Pr = Tk
else
Pk = Tk + Br—1DPk—1
end
oy = (T8 Pr)
(Prs Apr)
Tp+1 = Tk + Ok Pk
Tkr1 = T — Ok Apk = b — ACL‘k_H
k=k+1

until stopping criterion fulfilled, e.g. ||rk||ez < € ||70]|e2




